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Pre Algebra Ch. 7 Group Review

1) Solve each percent problem by setting up a proportion equation or writing a one-step equation then
solving it showing all support work.

a) 24 is what percent of 60 ? b} 80% of what number is 24? c) 270is what percent of 3007
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2) The price of one pound of chocolate rose from $1.25 to $2.75.

a) What is the percent increase? b) i the price reverses from $2.75 to $1.25, would
2812482 LaD € change this be a percent increase or decrease?
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3) The formula for simple interest is | = Prt. Find the principal (P) if you earn $500 in interest (1} at a rate of 7%
(r) for 6 years. Then determine the total amount of money (principal + interest).
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4) Solve and graph each inequality: = ,.-ﬁ@
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5) Write the inequality and solve it: Three times the Suiv  of five and a number
is less than or equal to 30. N

Original Inequality: 5( 5+@> = 7)0
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6) Mr. Ornelas needed to travel 400 miles to reach Chicago from his home. He went to Chicago in 8 hours and
came back at an average speed of 52 miles per hour. Which part of his trip was faster and how do you know?
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7} An airplane is flying at an elevation of 20,000 feet and descends at a rate of 325 feet per minute for 8
minutes. Write an equation and solve it to find the new elevation of the airplane.
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8) Mr. Webb gave his waiter a $5.60 tip on a $40 bill. What percent tip did he give the waiter? Show your
work! Ore m“;‘ Sy
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9) On December 17, 1903, Orville Wright flew the first powered airplane 120 feet. The flight lasted 12 seconds.
What was Orville’s speed in feet per second? O{ )
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10} Solve each equation. Check your solutions.

a) £—20=105
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11) Solve each equation, or proportion. Check your solution.
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12} Find the multiplier (scale factor), then solve for the missing side length in the similar shapes below.
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13) Simplify each of the following expressions.

(2x2+x+7)
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b) (3x%+ 6x+5) —|(x?+ 8x + 5)
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d) §(6k— 15)+§(10+5k) — 27
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14) Consider the comparison mats below. Which side is greater? Right, left, or neither? Show your work by
writing and “umsimplified” version and a fully simplified version for each mat.
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a. You waited too long to buy the new b. A new Groupon became available for your
fuzzy socks you wanted. They just went favorite frozen yogurt place. How much
up from $8 to $13 because they are money will you save if you purchase a
so awesome, Find the percent increase. $5 gift cardfor $3?
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16) My family of six eats 24 meatballs and four pounds of pasta on spaghetti night. How many

meatballs and how much pasta will we need when my grandparents {just two people) join our

family of six for spaghet‘u night? Show your work. [Round your answer(s) to one decimal place]
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17) Solve each of the following equations. Check at least one of the solutions.
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a) —2(=3x—7)=2x—2  Check b) 3 —4(5 —x) = —(2x + 3)
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18} Find the answer to each expression! DON’T DISTRIBUTE, THERE ARE NC VARIABLES!!!

a. —4+4-3(322+1) b. 15—\/_”+x/_+5(2+7)
“H 4 r =37 ) ' e BT
SHEH -0 1R S

Ans: -7 | Ans: f zq

5@+aeD) - (DY 0

d.3-(— 2+7—14 2)+5

B (547 }e ]
AL w“w %
- i i s
jp— e .
Ans: D, Ans:

19) If I put $500 into an account and left it alone for three years earning simple interest, and at the end of
three years | withdrew $650, what interest rate was | earning?
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20) 1 can't believe 1 found a bank that will pay 3% simple interest! I'll deposit $7,500 in the account and leave
it there for five years. How much will | have when | take it all out in five years? Show your work,
L=Prt
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e Challenge question hint: between 10000 < x < 14000
21) Margo’ s parents started a saving account for her when she started high school. She will" have $16,000
when she graduates. ifthe account earns 7% simple interest every year, how much- did her parents deposit
into the account when she started. h|gh school (four years before she graduates)?
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